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QUESTION 1

Click the Exhibit button.

clusterl::> volume show =-vserver val =is-constituent *

Vsarver Volume Aggregate State Type Size Available Usaedh

va2 g1 - enline AW 200TB 7€TB 62%

vs2 f£g91_0001 aggrl online AW 25TB 10MB 99%

vs2 fgl_0002 agg:2 online W 25TB 12TB 524

vsl fgl_0003 aggrl online AW 25TB 10TB 60%

vs2 fgl_ 0004 aggz2 online W 25TB 11TB 604

vs2 fgl_0005 aggrl online AW 25TB 10TB S6%

vs2 fgl_0006 aggr2 online W 25TB 127H 52%

vs2 fgi_0007 aggrl online W 25TB 10TB 608

vs2 fgl_0008 aggr2 online aw 25TB liTe S56%

clusterl::> aggr show

Aggregate Size Available Usadb State tvols Nodes RAID Status
aggrl 300TB 103.71TB 65% online 30 clusterl-01 raid_ dp, normal
aggel_root 368.4CB 15.83GB 6% oenline 1 clusterli-02 raid_ dp, normal
aggrl 30078 176.517TB il% online 25 clusterl-02 raid dp, normal
aggrl_root 368.4GB 15.83GB 6% online 1 <clusterl-01 raid_dp, normal

4 entries were displayed

You have an ONTAP cluster that is running a FlexGroup that is serving SMB data out to various users. One of the users
receives an error when trying to modify an existing file.

What is the cause of the problem? (Choose the best answer.)
A. The FlexGroup is full

B. The constituent is full

C. The FlexGroup is offline

D. The aggregate is full

Correct Answer: B

QUESTION 2

Click the Exhibit button.
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Create Share ®
Folder To Share fS'E]lU‘T_Cﬂ Erowse...
Share Name sql01_ca
Comment:

[vl Enable continuous availability for Hyper-V and SQL

© Select this option if the share contains Hyper-V VHDs
over SMB

LI Encrypt data while accessing this share

) Encrypts data using SMB 3.0 to prevent unauthorized
file access on this share.

Create Cancel

You have a mission-critical SQL application that uses a single SMB 3.1.1 share to host its database. The storage node
that is hosting the SMB share sql01_ca for the SQL database experiences a hardware failure and fails over to the
surviving node.

Referring to the exhibit, what is the state of the SMB share for the SQL database during the failover? (Choose the best
answer.)

A. The SMB share will be available, but all data is corrupted.
B. The SMB share will be unavailable until node failback.

C. The SMB share will be available, and all data is accessible.
D. The SMB share is unavailable due to its stateful nature.

Correct Answer: A

QUESTION 3

Click the Exhibit button.
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Windows 2019 Host — Dual HBA — ALUA

FC-Switch-2

; i mn
FC-Switch-1| @@ oy e

Controllers/

MNodes N

WiGroup
B mapping LUN via
BFCP - WWPN
WiSCS| - |QN/EUI

The exhibit shows a Windows 2019 server with two FC HBAs using ALUA. How many paths to LUN1 are
active/optimized? (Choose the best answer.)

A. 8
B.2
C.1
D.4

Correct Answer: C

QUESTION 4

You currently have an 8-node cluster and want to perform a rolling upgrade to a newer version of ONTAP to solve
security issues reported in the Active 1Q Web site.

In this scenario, which two steps should you validate before you perform the upgrade? (Choose two.)

A. Run Active 1Q Config Advisor.
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B. Validate Nodes with Hardware Universe.
C. Validate Nodes with Active 1Q Unified Manager.
D. Run Upgrade Advisor Report.

Correct Answer: AD

QUESTION 5
You have a FlexClone parent volume with several child volumes.

In this scenario, which statement is true when you move the FlexClone parent volume to another aggregate? (Choose
the best answer.)

A. All FlexClone child volumes are also moved.

B. All FlexClone child volumes are split and are no longer FlexClone volumes.
C. The volumes move operation fails.

D. A temporary FlexClone parent remains on the original aggregate.

Correct Answer: D
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